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gEnfal & fory faeer —

Instructions for the candidates :-

1. wRienfi OMR SR U3 UR (0T U YRABT HHID (10 3l BI) ALY
fored |
Candidate must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

2. oRIefT JATEa 37U Tl H & IR S |
Candidates are required to give answers in their own words as far
as practicable.

5. i @ik SRR W RY gy it quie Fiffe oxd §
Figures in the right hand margin indicate full marks.

4. gedl I SMYdd UG & oy qRienfal &I 15 e &1 ifaRed a9

feam T 2



15 minutes of extra time has been allotted for the candidates to

read the questions carefully.

g8 U3 GRHT a1 Wusl H 8, WUs—3 Ud EUs—4 |

This question Booklet is divided into two sections: Section-A and
Section-B.

Gus—3 H 100 TS U 8, FH 9 fb=gl 50 YAl BT SR <Al
g g1 U W SIfE Ul & SR oF W UM 50 ITRI BT Bl
ARH- fHar S| 96 ueF & forw 1 i fgiRa 21 98 SR

Iuee IR T OMR SR 99& # &3 T &1 g &I el /Bl afed

U ¥ W fE W PR & @R /IR U /&€ /ARG 3Mfe Bl

STR—YRTDT H YANT HRAT F1 &, AT el afRomd 3= 8 |

In Section-A, There are 100 objective type questions, out of which
any 50 questions are to be answered. First 50 answer will be
evaluated in case more than 50 questions are answered. Each
Question carries 1 mark. Darken the circle with blue/black ball pen
against the correct option on OMR Answer Sheet provided to you.
Do not use Whitener/liquid/blade/nail etc. on OMR Answer -Sheet,

otherwise the result will be invalid.

Yue—q ¥ 30 TSI U T | IS U B forg 2 3w FeiRa g,

RTH I fh=sl 15 99T &I SR AT Afar 2 | 59 IifaR«d, 59 wvs
H g &F ST Uy ¥ 2 e U & forv 5 i fEiRa g,

o8 9 f5=gl 4 U9l &1 IR 1 2|



In Section-B, there are 30 Short answer type questions. Each
questions carries 2 marks, out of which any 15 questions are to be
answered. Apart from this, there are 8 Long Answer type
questions, each question carries 5 marks, out of which any 4

questions are to be answered.

8. Pl UPR & Selaciivd SUBRY B SKIHATS Yol il = |

Use of any electronic appliances is strictly prohibited.

Section- A
Tus—3 (axqfrs y39)
9T GRIT 1 W 100 db & YA Y & 91 IR fddpey U v 8, 9w 9

Tdh FE B | U ERT g T 50 YTl & WEl fAddwey &1 OMR—3fie wR fafed o |
% B oy 1 i MEiRT B | 50 X 1=50

Question No.- 1 to 100 have four options, out of which only one is
correct. You have to mark your selected option of 50 questions on the OMR-

Sheet. Each question carries 1 (one) mark. 50x1=50

1 U] BT HHANNIT DI FAfEH YO < 1T B § —
(A) TerfT (B) T3
(SRERER (D) sif¥gRem
Maximum incentive giving function of management to employee
is:-
(A) Staffing (B) Organisation

(C) Controlling (D) Motivation
3



U] & ARG ITREIAT &) Ui § N BT & —
(A) ar @1 Ara BT e (B) fasar @1 Araem &1 e

(C) (A)d (B) <l (D) s ¥ g el

In the nature of social responsibility of management applies : -
(A) Law of Buyer beware (B) Law of Seller beware
(C) Both (A) and (B) (D) None of these

FaEg o far Siar & —

(A) ST R @ Uae §RT (B) 799 WRII U9 & g
(C) 1 TR & U&= gRI (D) s ¥ fo=fl & gRT &
Coordination is established by -

(A) Top level management  (B) Middle level management

(C) Lower level management (D) None of these

Ty AU fhar ST € —
(A) Tt & A= (B) WHEl & Hex
(C) Yo T wHaRAl & #eg (D) S 94l & Hed

Co-ordination is established :-
(A) Between departments

(B) Between groups



(C) Between management and workers

(D) Between all the above

T o BT 9T Ue BT B e g ?

(A) PrieT (B) Frrgfacranor
(C) w=am (D) fori=roT

Which of the following is not a function of management ?
(A) Planning (B) Staffing

(C) Cooperating (D) Controlling

o= & 9 B A1 Y9 BT I T8l B P

(A) & 1T AT (B) | &1 fasrd

(C) ISHIR IueA] B[] (D) Tfa feriRor &=

Which of the following is not an objective of management ?
(A) Earning Profits (B) Growth of the organisation

(C) Providing Employment (D) Policy making

Ug=] BT I8l B & —
(A) ISRING] (B) e
(C) =3 (D) frgfacasor

The first function of management is -

(A) Planning (B) Organisation



10.

(C) Coordination (D) Staffing

Hifg feRer orf & —
(A) UR=TST ge=er Bl (B) IR Ui Bl
(C) ST Ya=Idhi Pl (D) sTH & |4 &

Policy formulation is the function of -

(A) Operational management (B) Middle level managers

(C) Top level managers (D) All of these

dSITh Ue=eT H ok A AN fhd —
(A) 7T 3=

(B) U eI qAT THY eI

(C) i 31T, U eI AT FHY eI

(D) 7% I Big L

The experiments done by Taylor under Scientific Management

were -

(A) Motion Study

(B) Fatigue study and time study

(C) Motion study, Fatigue study and time study

(D) None of these

A ya=r & Hf¥pl & BRI & guel § gl & —



11.

12.

13.

(A) gfg (B) &
(C) ®1g ywTa =TEl (D) 35 | @I 2l
By scientific management working hours of workers are -

(A) Increased (B) Decreased

(C) No effect (D) None of these

ye=y & RIgr A8l & —
(A) Trfcreier (B) Srarefiet
(C) wrdHifaes (D) 574 9 =il

Principles of management are not -
(A) Dynamic (B) Flexible

(C) Universal (D) All of these

ygy & g T8l © —

(A) et G EEIS!
(C) wel (D) @rmagie

Principles of management are not -
(A) Universal (B) Flexible

(C) Absolute (D) Behavioural

Ugwe] & RIgrdi &f YT fbd bR A &1 ol 8 2
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14,

15.

(A) JARTRITAT H (B) Ui & 31GHd gRI
(C) TER & SFgHd gRI (D) WISt AIE & g

How are principles of management formed ?

(A) In a Laboratory
(B) By experiences of managers
(C) By experiences of customers

(D) By Social Scientist

WRHR fr=or g ufoedel § HH el 8 —
(A) ISRIERT H (B) frofiaxor #
(C) aeqIaror H (D) mefrapTanRor H

Government reduces control and restrictions in -

(A) Liberalisation (B) Privatisation

(C) Globalisation (D) Modernisation

ST TR 6T fFrforRad § W &I 9T S8R0l © 2
(A) srefereRer ¥ qaT &f JAYfd  (B) SuHIE G0l ST

(C) <31 &1 wfqem= (D) gRaR @1 |\

Which of the following is an example of social environment ?

(A) Money supply in the economy

(B) Consumer Proteciton Act
8



16.

17.

(C) The constitution of the country
(D) Composition of family

f=foRed § & sF—w1 eraaiie ardraReT &1 deor T8 8 ?

(A) SR (B) F¥amdy

(C) Sweerar (D) Sifeerdn

Which of the following does not characterize the business
environment ?

(A) Uncertainty (B) Employees

(C) Relativity (D) Complexity

= o 9 -1 IIIe TITaRT BT TIIS Gidd 8 2

(A) 8T BT

(B) frrearest ¥ gfg

(C) & <& gRacl BT AT Bl
(D) T
Which of the following, best indicates the importance of business

environment ?
(A) Indentification
(B) Improvement in performance

(C) Coping with rapid changes



18.

19.

20.

(D) All of these

T 8 —

(A) Ted—arfirgeh (B) Seea—rfaaedr

(C) arifires ufshan (D) 3 |

Planning is -

(A) Goal oriented (B) Objective-oriented
(C) Mental Process (D) All of these

fore=forRag & & o9 Y e & a8 2

(A) BorRar (B) 9Rd &1 qaid]

(C) Fra=vT Fr SR (D) srcafdre wfmTe
Which of the following is not a limitation of planning ?
(A) Rigidity (B) Wastage of time

(C) Basis of Control (D) Huge Cost

IS Ud S & IR AITSH UfhaT & HeH & —

(A) 4 (B) 6

(C)7 (D) 8

According to kootz and Donnell the organisation steps are -

(A)4 (B) e
(C)7 (D) 8

10



21.

22.

23.

24,

HHATRIT BT TWeoT R R o1 & —

(A) TR E FTeH (B) fshareHd |3
(C) FITaiR® HiTeq (D) fawrfa red

Depends on sweet will of employees -

(A) Formal organisation (B) Functional organisation
(C) Informal organisation (D) Divisional organisation
3R BT ARTIOT &l a1 T Hepell & —

(A) e B Bt (B) Muvfiar o

(C) WEIRYT BT T (D) &~ BRI

Authority can not be delegated of -

(A) Routine Work (B) Secret work

(C) Ordinary work (D) Easy work

Y] BT o fadR 81 & —

(A) 9RTYIT gIRT (B) BIHRUT ERI
(C) faa=<Tror gRT (D) T & NI
Management itself expands -

(A) Through delegation (B) Through Centralisation

(C) Through decentralisation (D) Through all

JBR & WRTUTT BT MM B MR BT RTUT —
A SRS BT (B)azrmé‘ﬁzm

11



25.

26.

27.

(C) &1 &1 (D) &1 TG AHRIT SIfHR &
Delegation of authority means delegation to subordinates of -

(A) Responsibility (B) Accountability

(C) Work (D) Work and related authority

IS JHR el SUHT H qRUT BT & —
(A) Uad (B) JmaTH
(C) arfard (D) 37 | BIg 2

In a large sized enterprise, delegation is -
(A) Voluntary (B) Necessary
(C) Compulsory (D) None of these

T YRIIOT & foTU 3faeasd & —

A FHSH B Flder (B) AT AT HAGI BT ATATARY]

(C) 3TRBRI BT TWLTHRY] (D) & |+
Necessary for effective delegation -
(A) Facility to contact

(B) Atmosphere of Co-operation and Co-ordination
(C) Clear explanation of authorities

(D) All of these

JYTIeell JMfhR SR & ot STReIRa & A1 81 Afdenasasd

T —
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28.

29.

30.

NEIBEIN (B) #r1q wrfda
(C) vrcare (D) wr=ifer

For delegation to be effective, it is essential that responsibility is

accompanied with necessary -

(A) Authority (B) Man-Power

(C) Incentives (D) Promotions

A3 & oftde & Al Bl & —
(A) T IR (B) &1 IR
(C) BR—aeh1 (D) PR

Recruitment in the life of organisation is -

(A) Once (B) Twice
(C) Occasionally (D) Continuous
HHATRAT BT T BT § —

(A) =1 oot & eifrmIRal &1 (B) Swaad 5ol & 1wl &1

(C) 7w sroft & fmIRAT &1 (D) ¥ 9

Selection of employees is -

(A) Lower Level executives  (B) Top Level executives

(C) Middle Level executives (D) All these

faeTT B ST 7 —

13



(A) Iraar 7 gig (B) war=ifcy

(C) #rs fosreq (D) 3 |

Objective of development is -

(A) Increase in knowledge (B) Promotion

(C) Better performance (D) All these

TP Bl § —
(A) Soa oI g9 Tawe (B) BHaY oI HeH UdwE

(C) BHaTd Td e e (D) 377 & Y

32.

Supervisor is the Link between -

(A) Top and middle management

(B) Workers and middle management

(C) Workers and Lower management

(D) All of these

TAETT & —
(A) 3MaTeTH
(C) 97T 3T §aial

Supervision is -
(A) Necessary

(C) Wastage of time

(B) 3MTawI®H

(D) 379 & Bl el

(B) Unnecessary

(D) None of these

14



33.

34.

35.

36.

FFURT HHARAT BT RTINS far SIrar & —
(A) =TcHS (B) ®umcH®
(C) arwitad (D) 57 ¥ g e

Motivated employees are rewarded :-
(A) Positive (B) Negative
(C) Intrinsic (D) None of these

HI fEeM & g IR € —
(A) 3Taeadh G ERIEESES
(C) &= @1 aicl (D) 95T &I qaidl

For efficient direction, motivation is -
(A) Necessary (B) Unnecessary

(C) Wastage of money (D) Wastage of time

SO FTEET & MER BT e 841 9y —

(A) wrfe® (B) afrmre
(C) o (D) s & @

Motivational means should be determined on the basis of -
(A) Group (B) Individuals
(C) Job (D) All of these

=7 SrefERerf W B oidT § —

15



37.

38.

39.

(A) fﬂ—g?f Kl (B) Iv8 &
(C) a9 HTIHR (D) T I+

The Leader takes work from his subordinates :-

(A) By Tact (B) By Rod
(C) By threatening (D) All of these
Jg=Ih Al © —

(A) 9| (B) @

(C) = (D) 7% %1 I

The Manager is -

(A) Boss (B) Owner

(C) Leader (D) None of these

SRS FAerae BIdl & —
(A) T (B) sfrremRe
(C) ferfd (D) &4 & ¥ &

Grapevine Communication is -
(A) Informal (B) Formal

(C) Written (D) None of these

qHCel ey H Geid BT YaTs Bidl & —

(A) TR @ 3R (B) 11 & 3R

16



40.

41.

42.

(C) Al ¥R W (D) 374 & =il

In horizontal Communication flow of suggestion is -
(A) Upward (B) Downward
(C) At parallel (D) All of these

YT FvdIed § A9 BT SUANT el BT affey —
(A) e (B) yorht
(C) srese (D) =Imeii=

In effective communication, language should not be used :-
(A) Clear (B) Impressive
(C) Ambiguous (D) Courtesy

JTROT BT RIgla 1 IMaeIHhdil b hHdg HIAT 8, [bdd gl
gfearfea fbar war o ?

(A) Bs qrta (B) wie
(C) et (D) ¥

The motivation theory which classifies needs in hierarchical order

is developed by -
(A) Fred Luthans (B) Scott
(C) Maslow (D) Drucker

= 8§ o a1 o s 2 ?

17



43.

44.

(A) UG (G REERINIRIIES
(C) ya—gRem (D) HHART AR

Which of the following is a financial incentive ?
(A) Promotion (B) Stock Incentive
(C) Job Security (D) Employee Participation

for o Pr—ar IR ufshar &1 9 T8l 8 ?
(A) fedrfET (B) F¥ISTT
(C) AremH (D) < UTddhdl

Which of the following is not an element of communication

Process.
(A) Decoding (B) Communication
(C) Channel (D) Receiver

Je—fI~TaT fhd YbR &1 TN g1 & 3favid el & 2

(A) Aidfae aren (B) | Tefad qmen
(C) sravr A<l qremd (D) A= qrer
Status difference comes under which type of communication

barrier ?
(A) Semantic barrier (B) Organisational barrier

(C) Barrier as Listening (D) Psychological barrier

18



45.

46.

47.

48.

AR i §RT UicAT2d AUedRR &1 & —

(A) famm (B) sToIR

(C) |agH (D) T=io ¥1o T0

The software company promoted by Narayana Murthy is -

(A) Wipro (B) Infosys

(C) Satyam (D) HCL

R DI MG hdl 4 é H A ST JMITIHAT WK & —

(A) IReTT 3T ahd] (B) FF~ ATIZIDR I

(C) SMA-—fE @1 AMaeIHAT (D) FFAST FawFDHT

The highest Level need in the Need Hierarchy of Maslow is -

(A) Safety need (B) Belongingness need

(C) Self-actualisation need (D) Prestige need
=T eavg®d § —

(A) &g SUhHH & foly (B) 7 90l & SUBH B folg
(C) S 3MBR dret IUHH & o1y (D) S a4l & fory

Controlling is necessary -

(A) For small enterprise (B) For medium size enterprise

(C) For Large size enterprise (D) For all the above

feriror fovar @ —

19



49.

50.

51.

(A) TE (B) Wt
(C) srmere (D) &7 & T e

Control activity is -
(A) Costly (B) Cheap
(C) Non-economic (D) None of these

=] JJheT0T fhdas ey R AR &9 &) Uh ddb-ild & 7

(A) & (B) &H BT Ud+
(C) sfzrem (D) are
Management audit is a technique to keep a check on whose

performance ?
(A) Company (B) Management of the company
(C) Shareholders (D) Customers

FrforRed § 9 uRIHAS BRIaE! 9 B SUYad Tl © ?
(A) faframT o= (B) ToSHif*E s Bx
(C) o™ o= (D) aFTd =

Which of the following is not applicable to corrective action ?
(A) Investment centre (B) Andocentric centre
(C) Profit centre (D) Cost centre

o faor & foru SRy Smavysd § —

20



52.

53.

(A) UfRreror |99 qRON (B) ss1e

(C) Acad NG (D) STREIIE &=

Budgetary control requies the preparation of -
(A) Training Schedule (B) Budget
(C) Network diagram (D) Responsibility centre

a9 ol & FgiRe § —

(A) &l BT A= (B) ST H ReId
(C) o¥1 BT Iy (D) 574 9 =il

The determinants of bonus decision are -
(A) Amount of Profit (B) Liquidity of funds
(C) Age of the company (D) All of these

o7 AT 9 AHRRIT Bl € O s H ulvafid sl & —
(A) ©: At & 3iex (B) T&% a¥ & 3=
(C) & | 9 99 & 3r=x (D) T & U 99 & 3r<x

Current assets are those assets which get converted into cash -
(A) Within Six month

(B) Within one year

(C) Between one and three year

(D) Between three and five year

21



54.

55.

56.

(A) Afqafia (B) fa<ira
(C) Seared (D) SwRIad |+l
That part of management which is connected with the financial

activities is called ?
(A) Personnel (B) Financial
(C) Production (D) All of these

s gl § fafranr Geeh fvta @1 wed 2|
(A) Braier Yot a1 g (B) Toit gwifes
(C) fa<r =gaRen &1 Aok (D) 37 ®I1g el

Investment decision in fixed assets is called :-
(A) Management of working capital

(B) Capital budgeting

(C) Financing decision

(D) None of these

why fqufor fed @l grerm ol 8 —
(A) fFraers (B) S
(C) PR (D) f=f &t &

Stock exchange protects the interest of -

22



57.

58.

59.

(A) Investor (B) Company

(C) Government (D) None of these
NaT g —

(A) gTERIE sirar (B) Retra=a ugiferar
(C) Vs vus U (D) SWad §o A &
REPO is -

(A) Repurchase agreement  (B) Reliance Petroleum

(C) Read and Process (D) None of the above
focig weer & —

(A) ot (B) fasi=

(C) @atr 3R fagm (D) 31 ¥ B =l

Financial Management is :-

(A) Art (B) Science

(C) Art and Science (D) None of these

o< yevar & g1 a1 7|

(A) fo<ia fraeH (B) ®INT Bl UTC BRI
(C) Y& ™ T 3fgeH (D) SR T

The main functions of financial management are -
(A) Financial Planning (B) Procurement of funds

23



60.

61.

62.

(C) Allocation of net Profit (D) All of these

O ga=1 &1 WRARETG fAaReRT & QT far 137 o1 —
(A) 1910—20 (B) 1920—30
(C) 1930—40 (D) 1940—50

Traditional approach of financial management was discarded

during -
(A) 1910—20 (B) 1920—30
(C) 1930—40 (D) 1940—50

focira garars foofg orr & —
(A) fa<ia (B) fafRiT
(C) < (D) e |+l

Financial Manager takes decisions as to -
(A) Finance (B) Investment

(C) Dividend (D) All of the above

=T yaerd &1 My faReRT & —

(A) DY DI UTC BRI (B) ®INT BT SYINT BRI
(C) A o B gFi (D) 3TH & BIg =l

Modern approach of Financial Management is -
(A) Procurement of funds (B) Utilisation of funds

(C) A and B both (D) None of these

24



63.

64.

65.

66.

gge foia e @ femar 8 —
(A) Faeafar (B) H=eten
(C) HeR (D) A 3k B 2

Characteristics of a sound financial planning are -

(A) Economy (B) Simplicity
(C) Rigid (D) A and B both
it v ot & —

(A) 3fer oit (B) ST & ST
(C) i 3fer (D) FoTg=

Capital structure includes -
(A) Share Capital (B) Deposits from public
(C) Preference Share (D) Debenture

& Priier foll = @] wHakr gerd —

(A) ey, <TrIT (B) g€ <@
(C) ey, wwafr (D) sy

Net Working Capital = Current Assets Minus -

(A) Current Liabilities (B) Net Liabilities

(C) Current Assets (D) Assets

Hal dIvliX dzIX dXdl g —
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67.

68.

69.

(A) IHBRTA DIy (B) HIBTAT PN
(C) <refarel @Iy (D) s & w

Money market deals in -
(A) Short term funds (B) Medium term funds
(C) Long term funds (D) All of these

TR &1 f|for oear g —

(A) Hfed IR (B) 33 d doTR
(C) Ut et (D) Yo7 ST

Creates Liquidity -
(A) Organised market (B) Unorganised market

(C) Primary market (D) Secondary market

Ty fqufor fgq @) grem 81 dl B —

(A) fraers (B) sierersy

(C) TR (D) foreft @1 e
Stock exchange do not protects the interest of -
(A) Invester (B) Shareholder

(C) Government (D) None of these

JUTTeh w9 H Hel BT 70 g off —
(A) 1988 (B) 1940

(C) 1992 (D) 1994

26



70.

71.

Legally SEBI was established in -

(A) 1988 (B) 1940
(C) 1992 (D) 1994

o7 fAtfAT ofe H asR dRar § —
(A) THOT 9oTR

(B) wrrfe dreiR

(C) 71T IIoTR AT TrIfHS dToIR |
(D) 5778 ¥ IS el

New issued shares are dealt in :-

(A) Secondary market

(B) Primary market

(C) Secondary and Primary market both

(D) None of these

USH 919IR Fd8R Bl & —

(A) 3THIBTA DIy (B) STeidTel™ By
(C) FeghTele BIY (D) T8 | BIg T2

Capital market deals in -
(A) Short term funds (B) Long term funds
(C) Medium term funds (D) None of these

27



72.

73.

74.

75.

I BT e Rt Red ® —
(A) faeel (B) draiardr
(C) a=ig (D) ESIGIIRSHES

Regional office of SEBI is situated in -

(A) Delhi (B) Kolkata

(C) Chennai (D) All these three places

| 2004 H YRA H e fquiloral & = off —
(A) 20 (B) 21
(C) 23 (D) 24
The number of stock exchange in 2004 was -
(A) 20 (B) 21

(C) 23 (D) 24

T faufdrat & foru 94 @) Fav § —
(A) tRo® ) EIEERES
(C) srraegd (D) srfard

For stock exchange, the services of SEBI is -
(A) Voluntary (B) Necessary

(C) Unnecessary (D) Compulsory

faeq § AW Ugel g AUt o1 werruer gy off —

(A) feeef (B) &=
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76.

77.

78.

(C) s (D) wmars

The foremost stock exchange in the world was established in -
(A) Delni (B) London

(C) America (D) Japan

fSITI= /9T ST § —
(A) 3aga (B) faferamr
(C) faremfar (D) 37 | BIg 2l

Advertisement is deemed as -

(A) Wastage (B) Investment
(C) Luxury (D) None of these
fauor # aftafera gar 8 —

(A) =3 (B) faspa

(C) wosRoT (D) Sugaa w4

Marketing includes -

(A) Purchase (B) Sales

(C) Warehousing (D) All of the above

o o 9 PH—1 Sde T B —
(A) =T e (B) XfthoRex
(C) gRr=t wfcrt (D) S

29



79.

80.

81.

Which of the following is not the product ?
(A) Raw material (B) Refrigerator
(C) Old Statues (D) Shoes

I FIvS b foIU 3MaeTd & —
(A) BIeT AT (B) RO

(C) apva oA (D) e |+l

Essentials for a good brand are -
(A) Short name (B) Easy to remember

(C) Attractive design (D) All of the above

T o o9 Ay Gdg T SUHR T8l © ?
(A) = (B) Y& & aF<x £
(C) omu (D) aRvd

Which of the following is not sales promotion tool ?
(A) Samples (B) Prize in Pack

(C) Coupons (D) Warranty

ﬁ?ITCFT ‘DT HdH Hg‘ll AT A %\r —
(A) fa=ma (B) aafaaa fasa
(C) faspar dae- (D) 5 =P

Costliest means of advertising is -
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82.

83.

84.

(A) Advertising (B) Personal selling

(C) Sales Promotion (D) Public relation
fIsia &1 AT © —
(A) LT (B) iRy

(C) ®elvsRr Ud RN 3T (D) vz

Media of advertising is -
(A) Samples (B) Premium

(C) Calender & diary etc (D) Demonstration

Iaure 107 BT uvifdd e et Tch § —
(A) fagor (B) St
(C) fardrr (D)3 T

The factors affecting product mix are -
(A) Marketing (B) Product
(C) Financial (D) All these

T e AP &5 8§ —
(A) 518 (B) SrafemT
(C) afSi (D) MR AT

Maximum wide scope is of -
(A) Brand (B) Labelling
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85.

86.

87.

88.

(C) Packaging (D) Trade Mark

YT FRET0T JAIH & A SUHIGAT & SMEBR & —
(A) 6 (B) 7
(C)s (D)9
Consumer rights under Consumer Protection Act are -

(A)6 (B)7

(C)s8 (D)9

TRA H STIdar ReRvr ifafaas R fear = —

(A) 1886 (B) 1986

(C) 1996 (D) 3TH & BIg =l
Consumer Protection Act was passed in India in -
(A) 1886 (B) 1986

(C) 1996 (D) None of these

SYYTFRAT AReT0T IAIH & Iaid SUWIad] I 3 39 & —

(A) STefr BIRH (B) I SARITT
(C) g 3T (D) Swia

Consumer Court under Consumer Protection Act means -

(A) District Court (B) State Commission

(C) National Commission (D) All the above

ML RN & AG & JAfAhad Mg 8l Aol o
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89.

90.

91.

(A) 60 Tt (B) 65 T

(C) 70 a9 (D) 3T ¥ B =l

The maximum age of the member of National Commission may
be-

(A) 60 years (B) 65 years

(C) 70 years (D) None of these

SUATT fdarel & fAueRr &) gavenr a=+ § —
(A) Th—=RI (B) e
(C) fg—=ra (D) ®Ig 8

The machinery for settlement of Consumer disputes are -

(A) One-tier (B) Three-tier

(C) Two-tier (D) None of these

R ¥ IUHTe HReT R g € —

(A) 15 378, 1986 (B) 15 318, 1987 ¥
(C) 15 31¥iat, 1988 & (D) 31 ¥ B =l

Consumer Protection Act is effective in India with effect from -
(A) 15" April, 1986 (B) 15™ Aptil, 1987

(C) 15" April, 1988 (D) None of these

SUHTFIT FR&TT A8 & ravia Rrpradedl | M & —
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92.

93.

(A) SUHTEIT (B) I WRHR
(C) g WRPR (D) SWRIad |4

Under the Consumer Protection Act, Complaintee means -
(A) Consumer (B) State Government

(C) Central Government (D) All the above

SUHTFIT TRET0T AfAIH & Sr=ia faarg omd & —
(A) T & 3fer TRl fdars
(B) afved uysfd @ fdarg

(C) fwdT gRT 3l #Iad & faspa Aw=lt fdars
(D) war faarg

The disputes comes under Consumer Protection act are -
(A) Dispute in relation to shares of a company

(B) Dispute of penal nature

(C) Dispute in realtion to sale of defective goods by the seller

(D) Service disputes

o & & 9 Safadr @ AL T8 2 ?

(A) STiRes < =T (B) am@R

(C) gorr® o (D) Ysrerasr gfreror

Which of the following is not a characteristic of entrepreneurship ?
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94.

95.

96.

(A) Risk taking (B) Innovation

(C) Creative activity (D) Managerial training

TRAT Ifar fAer dvem Red & —
(A) sreeTaTe A (B) g #
(C) =g faeel # (D) o=Ts H

Entrepreneurial Development Institute of India is situated in -
(A) Ahmedabad (B) Mumbai
(C) New Delhi (D) Chennai

VRO ST f[derT FRE &7 RIUET a7 o —

(A) IBRTE. IRGR g1 (B) TORIT WRBR g
(C) 7e4 Qe WRBR ERT (D) AfieTg IRBR ERT

Entrepreneurial Development Institute of India was established by-
(A) Maharashtra Government

(B) Gujrat Government

(C) Madhya Pradesh Government

(D) Tamilnadu Government

TRd ¥ ST A wrRi%y 381 & —
(A) el (B) 3
(C) GuR @ 3Maegha (D) 375 | &I 2
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97.

98.

99.

In India, entrepreneurial development programme has been -
(A) Successful (B) Unsuccessful

(C) Need of improvement (D) None of these

Safidr @ aRoma &7 9 § 9 /=7 HET TIaT §
(A) Sl (B) SerfAen

(C) SushH (D) ST 9 SfHdl

What is the outcome of entrepreneurship called ?
(A) Entrepreneur

(B) Entrepreneurship

(C) Enterprise

(D) Entrepreneur and Entrepreneurship

ST feas fov ISR & 3avR SUTE] Bl § 2
(A) 5=t & oty (B) amqfcfapateril & forw
(C) weell & forg (D) SWIad a1 & forg

For whom, entrepreneurship provide employment opportunities ?

(A) For entrepreneur (B) For suppliers

(C) For middleman (D) For all the above

1 9 9 o9 R grR T8 B Ahdr ?

(A) U ST (B) SuHTa e o4 AT=IeT Ui T &
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100.

(C) o= IRPR (D) =T WRBR

Which of the following can not file a complaint ?

(A) A Consumer

(B) Consumer association that has not been recognised
(C) Central government

(D) State government

/= 4 9 —ar d—a Rrerad ffarer §3 &1 37 98§ ?

(A) ITRTERT 3T (B) IR 3T
(C) I 3MANT (D) fSTerm BiRA
Which of the following is not a part of the three-tier grievance

redressal machinery ?
(A) International Commission (B) National Commission
(C) State Commission (D) District Forum

Huvs—9 / Section-B

oY ST 939 / Short Answer Type Questions

U AT 1 W 30 P g IR & | 38 I Bl 15 Ul & SR S | UAD U

& forg 2 o FeiRa §) (15x2=30)

Question no. 1 to 30 are Short answer type. Answer any 15 questions. Each

question carries 2 marks. (15x2=30)
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10.

11.

U 1 T fIRanet @l @re Iy |

Explain two characteristics of management.
Ug & & Heayol 1 18y |

Write two important functions of management.
A ST RAT & 7

What is time study ?

JTIHRYT BT 37ef FHSLY |

Explain the meaning of Globalization.

afefes arareRer & sl dIF Tchl & A IdTsy |

State any three factors of Economic Environment.
T8 i Mifa | oy T |wHsKd € 7
What do you mean by New Economic policy?

I Bl ghe | AR & JHR gdrsy |

State the types of Planning on the basis of time.
RIS @1 Big &1 W 9q1sy |

State any two Limitations of Planning?

HITST Bl &l faRIvdrel ol g |

Write two characteristics of organisation.

A3 P <1 Sel Dl AN |

Write two objectives of organisation.

fap=Hror @1 dF faemay forRay |

Write three characteristics of decentralization.
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

PrIfideer & Aeca @ Rl i Regall @ avi % |
Explain any three points of the importance of staffing.
Frgfacesxor 1 Tl a1 faeraamll @ 9 9dr |

Name any two features of staffing.

giRieror & fdbegl &l a¥idl & 9 ) |

Name any two methods of training.

PRI—TEeAl URIETT BT T eI BIAT & 7

What is the objective of Job Rotation training?
TaeToT @ |7 faRiyand forRey |

Write two characteristics of supervision.

fader qom wideror § T IR © ?

What is the difference between Direction and Supervision ?

IR BT DI IR faRvany oy |
State any four characteristics of motivation.
HAMGRT o™ & &1 FEET ITY |

Give two examples of Retirement Benefits.

3rifee IR & & JETERT § |

State two examples of non-monetary incentives.

T I T B AR O B fIRAT |

State any four qualities of a good leader.

MRS FRYU & bl & <Ml Bl AT PN |
Explain any two advantage of formal communication.
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23.

24,

25.

26.

27.

28.

29.

30.

=07 9§ oy @ AEe § ?
What do you mean by Controlling?

fo<fia e @ Q1 Aecyul ezl @l 9 |

State the two important objectives of financial planning.
o e B @ SR ford |

Write two objectives of capital structure.

Prefeier Yol & g g W § ?

What do you mean by Working Capital.

TIffe IR &1 DIy 4 fIRvan qaqrsy |

State any three features of Primary market.
SIRT U v’ &7 8 ?
What is ‘Zero Coupon’ Bond ?

31 U TS &b A1 ST |

Give the names of two consumer oganisations.
Sert @ Q1 faRyany T |

Give two characteristics of Entrepreneur.

4" Sa9g 939 (Long Answer Type Questions)

9T GRYT 31 O 38 db ol" SN 2 | 398 A fhal 4 YTl & SR S | YD U

& g 5 o/ FEiRa §) (4x5=20)

Question no. 31 to 38 are Long answer type. Answer any 4 questions. Each

question carries 5 marks. (4x5=20)

31.

IS U & T I FT © °
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32.

33.

34.

35.

36.

37.

38.

What are the major objectives of Scientific Management ?

IUTHdT & w9 | MYBT T I 8 7

What are your responsibility as a consumer ?

gl | ATGITAd drareaRol & Hged BT g BT |

Describe the importance of Business Environment

management.

BB Ud fABIdhol & di9 (AR W HINY |
Distinguish between Centralisation and Decentralisation.
TP STHl & J&I P AT 8 ?

What are the main functions of an entrepreneur ?

ISl IR T 2 ? S9! fhl ufg faerwdmell & 9drsy |

What is capital market ? State its any five characteristics.

AR qUT IHIUAR® A=<rdied & 3} gdrd |

Differentiate between formal and informal communication.

BHRIENe Yoil DI YATIT B dTel Ichl BT quid HIfY |

Describe the factors affecting working capital.
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